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TADM 309 (M)
QUESTION 1 [COMPULSORY]

(a) According to Carr & Latham (2000), briefly describe the processes involved after
cutting pattern pieces from the lay of fabric on the cutting table in preparation to sew
the pieces together.

(4 x 4 = 16 Marks)

(b) In garment production, seam types are indicated in the work ticket by using codes.
Name four seam types and include their relevant codes. Include where they are most
appropriately used on a garment. .

(3 x 4 =12 Marks)

(c) With an aid of an illustration, show the components of a specification sheet.
(12 Marks)
[TOTAL MARKS = 40]

UESTION 2 ’

(a) Define what is AGOA and why was it passed as a law? State five (5) apparel
provisions under AGOA 1.
(5 + 5=10 Marks)

(b) State when were AGOA II, AGOA III, AGOA IV passed into law and what were the

two (2) provisions under each AGQA? ’ (6 + 6 = 12 Marks)
(c) Why it is important to maintain the eligibility status of Swaziland under AGOA
(4 Marks)
(d) Give four (4) sewing thread packages and where they are used.
(4 Marks)

[TOTAL MARKS = 30]

UESTION 3

(a) Describe the properties of the following sewing threads in terms of sewability,
durability, abrasion resistance, colourfastness and shrinkage resistance.
@) Cotton
(i)  Mercerized cotton
(iii)  Polycotton
(iv)  Polyester
(v) Nylon

(5 x5=25Marks)
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